@ : *PHW 3 kHz Marker 1 [T1 1}
*YEW 10 kHz -14.09 dBm

Ref 10 dBm *Aatt 20 dB * YT 500 = 2.413135000 GHz
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Comment A: Power density at low channel
Att=3dB, cable loss=1dB
Date: 28,AUG,2002 17:16:42



@ *RBW 3 kH=z Marker 1 [Tl
*YVBW 10 kHz —-14.63 dBm
Ref 10 dBm *Att 20 dB *SWT 500 s 2.438136000 GHz
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Comment A: Power density at middle channel
Art=3dB, cable losz=1dB
Date: 28.A0G. 2002 17:14:42



@ *RBW 3 kH=z Marker 1 [T1 ]
*YBW 10 kHz -1%.01 dBm

Ref 10 dBm *art 20 4B *SWr 500 s 2.,463136000 GHz
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Comment A: Power density at high channel
Att=3dB, cable loss=1dB
Date: 28.AUG.2002 17:12:33



